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const int MAXN=1e5+5;
vector<pair<int,int> >a[MAXN<<2]|;
int lef[MAXN<<2],rig|/MAXN<<2];
void build(int k,int L,int R
lef[kl=L,rig/ k!=R;
L==R ;
int M=L+R>>1;
build(k<<1,L,M);build(k<<1|1,M+1,R);

void add(int k,int L,int R,pair<int,int> edge
L<=lef | k|&&rig/k|<=R
alkl.push back(edge),void();
int mid=lef|k|+rig/ k!>>1;
mid>=L)add(k<<l,L,R,edge);
mid<R)add(k<<1|1,L,R,edge);

int n,fa/MAXN<<1],dep! MAXN<<1]|, top;
pair<int,bool> Stack MAXN<<2];
int Find(int x ==fa[x|?x:Find(falx]);
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void Union(int u,int v
int x=Find(u),y=Find(v);
X==Yy ;
dep[x|>deply!)swap(x,y);
Stack|[++top ! =make pair(x,dep|[x|==deply
falx|=y,deply/+=dep/x/==deply]!;

.
’

void solve(int k
int cur=top;bool flag=true;
_for(i,0,alk].size
pair<int,int> temp=a k]| [i];
Find(temp.first)==Find(temp.second
~rep(i,lef(k!,rig/ k! )puts("No");
flag=false;

Union(temp.first,temp.second+n),Union(temp.first+n,temp.second);

flag
lef|lkl==rig|k])puts("Yes");
solve(k<<l),solve(k<<1l]|1);

top>cur
dep|falStack top|.first]]|-=Stack top].second;
falStack|[top!.first|=Stack/ top|.first;
top--;

int main

int n=read _int(),m=read int(),k=read int();

:in=n;
build(1l,1,k);
~rep(i,l,n<<l)falil=i,depli/=1;

m--
int u=read _int(),v=read int(),l=read int(),r=read_int
l!=r)add(1,1+1,r,make pair(u,v));

’

solve :
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const int MAXN=2e5+5,MAXK=7e5+5;
vector<pair<int,int> >a[MAXN<<2]|;
int lef[MAXN<<2],rig/ MAXN<<2];
void build(int k,int L,int R
lef[kl=L,rig/ k!=R;
L==R ;
int M=L+R>>1;
build(k<<1,L,M);build(k<<1|1,M+1,R);

void add(int k,int L,int R,pair<int,int> edge
L<=lef|k|&&rig|k|<=R
alk].push back(edge),void();
int mid=lef|k|+rig/ k!>>1;
mid>=L)add(k<<1,L,R,edge);
mid<R)add(k<<1|1,L,R,edge);

int m,falMAXN<<1],sz|[MAXN<<1]|,top,Stack MAXK!,block cnt,Iosn,Iosm;
int Find(int x x==fal[x|?x:Find(fal[x]|);
void Union(int u,int v
int x=Find(u),y=Find(v);
X==y ;
block cnt--;
Sz X|==
x>m)Iosn--;
Iosm--;
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SZ ——
y>m)Iosn--;
Iosm--;

sz[x|>sz|y!)swap(Xx,y);
Stack|++top|=x;
falx|=y,sz|lyl+=sz/x];

void Inv union(int x,int y
block cnt++;
szlyl-=sz[x];
falx|=x;

Sz ==
x>m)Iosn++;
Iosm++;

SZy::
y>m)Iosn++;
Tosm++;

top--;

void solve(int k
int cur=top;
_for(i,0,alk].size
pair<int,int> temp=alk|[1i];
Union(temp.first,temp.second);

lef|[kl==rig|k
Iosm
pUtS ||_1|| ;

enter(block cnt-Iosn);

solve(k<<l),solve(k<<1l]|1);
top>cur)Inv _union(Stack|top!,falStack|top ;

map<pair<int,int>,int> st;
int main

int n=read int(),m=read int(),qg=read int(),u,v;
pair<int,int> temp;
Lim=m;
_rep(i,l,n+m)falil=1i,sz[i|=1;
block cnt=n+m,Iosn=n,Ilosm=m;
build(1,1,q);
_rep(i,1,n
int k=read int();
K- -
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stImake pair(read int(),i+m)|=1;

_rep(i,1,q
u=read int(),v=read int()+m;
temp=make pair(u,v);
st.count(temp
int l=st/temp!;
l!=i)add(1,1,i-1,temp);
st.erase(temp);

st/ temp|=1i;

auto it=st.begin();it!=st.end();++it

add(1,it->second,q,it->first);
solve ;

’
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OO0000 $0((n+m)\log vWlog m)$[]

const int MAXN=1e5+5,MAXM=17;

int root [ MAXN],ch MAXN* , SZ | MAXN* ,cnt;
void Insert(int &k,int p,int v,int pos=MAXM-
k=++cnt;
szl kl=szlpl+1;
pos< ;

int dir=(v>>pos)&l;
chlkl/[!'dirl=ch[p|[!dir];
Insert(ch/k![dir],ch[pl[dir],v,pos-1);

int query(int lef,int rig,int v

int pos=MAXM-1,kl=root|lef-1],k2=root/rig|,ans=0;

~pos
int dir=(v>>pos)&l;
szichlk2]['!'dir]l-sz[ch[kl][!dir
ans|=(1l<<pos),kl=ch|[kl]|[!dir|, k2=ch[k2

kl=ch|[kl]|[dir],k2=ch[k2][dir];
pos--;

ans;

struct Query
int ql,qr,tl,tr,x,1id;
q!MAXN|;
struct Upd
int pos,v,t;
bool operator < (const Upd &b)const
pos<b.pos;

upd MAXN | ;
int lef[MAXN<<2],rig/ MAXN<<2];
vector<int>a|MAXN<<?|;
void build(int k,int L,int R
lef(k!=L,rig/ k!=R;
L==R ;
int M=L+R>>1;
build(k<<1,L,M);build(k<<1|1,M+1,R);

void update(int k,int L,int R,int v
L<=lef|k|&&rig[k|<=R
alk].push back(v);
int mid=lef|k|+rig/ k!>>1;
mid>=L)update(k<<1,L,R,v);
mid<R)update(k<<1]|1,L,R,Vv);

int opt[MAXN|,cur,ans|[MAXN/;

Idir

’
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int Find(int p,int 1,int r
int lef=1,rig=r,mid,ans=1-1;
lef<=rig
mid=lef+rig>>1;
upd|opt/mid! |.pos<=p)ans=mid, lef=mid+1;
rig=mid-1;

ans-1+1;

void cal(int k,int L,int R
cnt=cur=0;
_rep(i,L,R)Insert(root|/cur+l],root/cur|,updfoptiil .v),cur++;
_for(i,0,alk].size
int 1=Find(qla'k]|!i!].ql-1,L,R)+1,r=Find(qlalk]|[i]].qr,L,R);
l<=rjansi/qlalk]/[i]].id|=max(ans|qlalk]|[i]].id],query(l,r,qlalk][i]].x));

int t1/MAXN],t2/MAXN];
void solve(int k,int L,int R
L>R ;
cal(k,L,R);
lef|[kl==rig|k ;
int cntl=0,cnt2=0,mid=1lef k/+rig|/k|>>1,M=L-1;
_rep(i,L,R
updiopt/i]|.t<=mid)tl[cntl++]|=0ptii];
t2 cnt2++|=opti];

_for(i,0,cntl)opt/++M/=tl[i];
_for(i,0,cnt2)opt M+1+i|=t2[i];
solve(k<<1,L,M);solve(k<<1|1,M+1,R);

int main

int n=read int(),m=read int(),cntl=0,cnt2=0,k;
_rep(i,1,n)Insert(root|[i],root|[i-1],read int ;
m_-
k=read int();

cntl++;
upd/ cntl].pos=read int(),upd|[cntl].v=read int(),upd/cntl|.t=cntl,opticntl|=
cntl;

cnt2++;
glcnt2].qgl=read int(),qlcnt2].qr=read int(),qlcnt2].x=read int(),qlcnt2].id
=cnt2;

glcnt2].tl=max(1,cntl-read int()+1),qlcnt2].tr=cntl;

ans cnt2/=query(qglcnt2].ql,qlcnt2!.qgr,qlcnt2].x);

lcntl
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_rep(i,l,cnt2)enter(ans|i]);

’

build(1,1,cntl);

_rep(i,1,cnt2 gli].tl<=qli].tr
update(1,qli!.tl,qli!.tr,1i);
sort(upd+1,upd+cntl+1);
solve(1l,1,cntl);
_rep(i,1l,cnt2)enter(ans(i]);

.
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const int MAXN= ,MAXD=15;
typedef bitset<MAXN> bt;
struct LB

bt p/MAXN];

void insert(bt x
int i=MAXN-1;i>=0;i--
x[i
plil.any
X*=pli

’
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plil=x,void();

bt query
bt ans ;
int i=MAXN-1;i>=0;i--
lans[1i|&&plil |1
ans™=pl[il;

ans;

1b[MAXD | ;
void Enter bitset(const bt& x
bool flag=false;
int i=MAXN-1;i>=0;1i--
x!i])flag=true;
flag)putchar('0'+x[1i]);

I'flag)putchar('\0"');
putchar('\n');

char buf[MAXN];

bt Read bitset
bt ans ;
scanf("%s",buf);
int len=strlen(buf);
reverse(buf,buf+len);
_for(i,0,len
ans|il=bufiil-'0";

ans;

vector<bt> s[MAXN<<2?];
int lef[MAXN<<2],rig/ MAXN<<2];
void build(int k,int L,int R
leflk!=L,riglk|=R;
L==R ;
int M=L+R>>1;
build(k<<1,L,M);
build (k<<1|1,M+1,R);

void update(int k,int L,int R,const bt& v
L<=lef k|&&rig/k|<=R
s|kl.push back(v);

’

int mid=lef|k|+rig/ k!>>1;
mid>=L

update(k<<l1,L,R,Vv);
mid<R

update(k<<1|1,L,R,v);
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void solve(int k,int d
_for(i,0,s[k].size
lb[d].insert(s[k][i]);

lef|[kl==rig|k
Enter bitset(lb(d].query ;

’

lb/d+1]=1lbd];
solve (k<<l,d+1);
lb[d+1]1=1b[d];

solve(k<<l|1,d+1);

struct Edge
int to,next;
bt w;

edge MAXN | ;

int head MAXN|,edge cnt;

void AddEdge(int u,int v,const bt& w
edge|++edge cnt|=Edge{v,headul,w};
head|u/=edge cnt;

bt dis[MAXN];
int dfn[MAXN|,dfs t;
void dfs(int u
dfnlul=++dfs t;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
fdfnlv
dis|v|=dis|u/”edgeli].w;
dfs(v);

dfniv/<=dfnlu
1b .insert(dis/u/”~dis|[v]”edgeli].w);

struct Edge2
int u,v,last;
bt w;

edge2 [ MAXN | ;

int main

int n=read int(),m=read int(),qg=read int();
build(1,0,q);
m__
int u=read _int(),v=read int();
bt w=Read bitset!();
AddEdge(u,v,w) ;
AddEdge(v,u,w) ;
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dis =bt :
dfs ;
int k=0;
_rep i' 'q
scanf("%s",buf);
buf =="'A"
k++;

edge2 k| .u=read int(),edge2[k].v=read int();
edge2 k| .w=Read bitset(),edge2 k! .last=1i;

buf[l]=="'a’
int t=read int();
update(1,edge2[t]|.last,i-1,dis/edge2[t]|.ul"dis/edge2[t]|.v|"edge2/t|.w);
edge2[t].last=0;

int t=read _int();
update(1l,edge2/t]|.last,i-1,dis/edge2[t]|.ul"dis/edge2(t].v]|"edge2[t].w);

edge2t|.w=Read bitset();

edge2|t].last=1i;

_rep(i,1,k
edge2[i].last
update(1l,edge2|i].last,q,dis/edge2|i|.u/~dis/edge2|i|.v]|"edge2[i].w);

solve(l,1);

a2

0000000000000000000000000000000000000000 $0\left(\cfrac
{(m+q)L™2}wiright)$[]

const int MAXN= ,MAXD=15;
typedef bitset<MAXN> bt;
namespace LB
bt p/MAXN];
int pos/MAXN];
void insert(bt x,int y
int i=MAXN-1;i>=0;i--
x[i
Ipli].any
plil=x;
pos|il=y;

pos|/il<y
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swap(pli!,x);
swap(pos|il,y);

N

X*=plil;

bt query(int 1
bt ans ;
int i=MAXN-1;i>=0;i--
lans[1i/&&p i) [1]&&pos|i]>=1
ans™=plil;

ans;

void Enter bitset(const bt& x
bool flag=false;
int i=MAXN-1;i>=0;i--
x[i!)flag=true;
flag)putchar('0'+x[1i]);

I'flag)putchar('\0"');
putchar('\n');

char buf[MAXN];

bt Read bitset
bt ans ;
scanf("%s",buf);
int len=strlen(buf);
reverse(buf,buf+len);
_for(i,0,len
ans[il=bufl[il-'0";

ans;

struct Edge
int to,next;
bt w;

edge MAXN | ;

int head MAXN|,edge cnt;

void AddEdge(int u,int v,const bt& w
edge|++edge cnt|=Edge{v,headul,w};
head|u!=edge cnt;

bt dis[MAXN];
int dfn[MAXN|,dfs t;
void dfs(int u
dfnlul=++dfs t;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
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ldfnlv
dis/vi/=dis|u|”edgeli].w;
dfs(v);

dfn{v]<=dfnlu
LB::insert(dis/u/~dis/v]”~edge/i].w,MAXN) ;

struct Edge2
int u,v,last;
bt w;
edge2 [MAXN| ;
struct Node
bt x;
int 1,r;
node [MAXN | ;
int idx[MAXN];
struct cmp
bool operator const int a,const int b)const
nodelal.l<node|b].l;

’

int main

int n=read int(),m=read int(),qg=read int();
m--
int u=read int(),v=read int();
bt w=Read bitset();
AddEdge(u,v,w) ;
AddEdge(v,u,w) ;

dis =bt ;
dfs :
int k=0,q2=0;
_rep(i,1,q
scanf("%s",buf);
buf =="'A'
kK++;

edge2 k| .u=read int(),edge2|k].v=read int
edge2 k| .w=Read bitset(),edge2 k!.last=1;

buf(l]=="a’
int t=read int();

node|q2 | .x=dis/edge2/t]|.ul/"dis/edge2/t|.v|"edge2|t]|.w;

node[qg2|.l=edge2|t]|.last,node[q2].r=i-1;
gq2++;
edge2[t].last=0;

int t=read int

node[ g2 .x=dis|edge2/t|.ul"dis|edge2|t]|.v|"edge2t]|.w;

’
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node|q2!.l=edge2|[t|.last,node[q2.r=1i-1;
g2++;
edge2t|.w=Read bitset();
edge2|t].last=1i;
_rep(i,1,k
edge2[i].last
node[ g2 .x=dis|edge2/i!.ul"dis|[edge2|i|.v|"edge2(i].w;
node[g2|.l=edge2[i].last,nodelq2].r=q;
q2++;
_for(i,0,q92
idx[il=1i;
sort(idx,idx+q2,cmp ;
int pos=0;
_rep(i,0,q
pos<q2&&node | idx|[pos| |.l<=1
LB::insert(node|idx|pos||.x,node|idx[pos!|.r);
pos++;
Enter bitset(LB::query(i));
From:
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